Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2017

Subject Name: Construction Technology
Subject Code: 2TEO3CNT1 Branch: Diploma (Civil)

Semester: 3 Date: 27/03/2017 Time: 10:30 To 01:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Q-1 Attempt the following questions:

a  The foundation in which a cantilever beam is provided to join two footings, is

known as

(i) Strip footing (ii) Strap footing (iii) Raft footing (iv) Combined footing
b The foundations are placed below ground level, to increase

(i) strength  (ii) workability (iii) stability of structure  (iv) all the above
c  M20 grade of concrete

(i) 1:2:3 (i) 1:1.5:3 (iii) 1:1:2 (iv) 1:2:4
d  The9cmx 9 cm side of a brick as seen in the wall face, is generally known as
(i) Stretcher  (ii) Face (iii) Front (iv) Header
e  The taper of precast concrete pile should not be more than
(i) 1 cm per metre length (ii) 2 cm per metre length
(iii) 4 cm per metre length (iv) 5 cm per metre length

f Black cotton soil is unsuitable for foundations because its
(i) Bearing capacity is low
(i) Permeability is uncertain
(iii) Particles are cohesive
(iv) Property to undergo a volumetric change due to variation of
Moisture content.
g  Which one of the following rocks is used for monumental buildings :
(i) granite (if) Marble (iii) Sand stone (iv) Slate
h  The arrangement of supporting an existing structure by providing supports
underneath, is known as

(i) shoring (i1) underpinning  (iii) jacking (iv) piling
i Sheet piles are made of
(i) Wood (i1) Steel (iii) Concrete (iv) All of these
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Which of the following is a rock

(i) quartz (ii) mica (iii) gypsum (iv) none of the above
The type of footing which is used to transmit heavy load through steel column
is

(1) raft foundation (i1) grillage foundation

(iii) well foundation (iv) isolated foundation

Which of the following cement is suitable for use in massive concrete structure
such as large dam

(i) ordinate Portland cement (i) low heat cement

(iii) Rapid hardening cement (iv) Sulphate resisting cement

The most commonly used retarder in cement is

(1) Gypsum (i) Calcium chloride

(iii) Calcium Sulphate (iv) None of these

After storage , strength of concrete is

(i) Decrease (ii) Increase

(iii) Remain same (iv) May increase or Decrease

Attempt any four questions from Q-2 to Q-8

Attempt all questions

Write the comparison between pre-cast and cast-in situ concrete construction.
Write the different features of major types of mobile and tower cranes.
Attempt all questions

Explain various methods of estimating of depreciation.

Write the entire requirement in the formwork of building components.

Attempt all questions

How precast material is fabricated? Write the procedure in stepwise.

What is the procedure of fabrication and erection of structural steel explains
with details.

Attempt all questions

Write the advantages and disadvantages of steel scaffolding.

Defined the following

1. Scaffolding. 2. Shoring. 3. Form work. 4. Struts

5.Bracing 6. Putlog 7. Ledgers

Attempt all questions

Explain the process of single stage well point system in brief with neat sketch.
State various necessity of timbering in trenches.

Attempt all questions

Describe various types of drills for excavation in rocky strata.

Draw the figure of scaffolding for the brick masonry construction works.

Attempt all questions
Explain different types of explosives used in excavation of rock.
Describe various methods of welding in steel structure.
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Attempt the following questions:

Wl FHL A gEaL ol Wsal Hie Fodlellewr ol ol Gualol u B
(1) Strip footing (i) Strap footing (iii) Raft footing (iv) Combined footing
Al ol AGos xR ofl olA Ysauui A B, 9 aual {2

(i) ctslct (i) stlaHciii) Howell RARAL (iv) GURell ¢lul

MR0 s of Slosle

(i) 1:2:3 (ii) 1:1.5:3 (iii) 1:1:2 (iv) 1:2:4
Elaict ofl 33 uR ¢ A x ¢ AL ol F2 ol cuy M2 AsA B, UM
Ad A Ao B

(i) Stretcher  (ii) Face (iii) Front (iv) Header
Ulsize Slosle ve ofl uedl audl ASA «13
(i) 1 cm per metre length (i) 2 cm per metre length
(iii) 4 cm per metre length (iv) 5 cm per metre length

wal 1R stoll swill wdl 200u oell, struk

(i) a%ot cgot -l AS B

(i AL AL AR A B

(i) QL Ralou ®

(iv) A% ofl M2l UL GEALA all 51RA SE ML GLEALC ol dJLLu
o(lAotl il sl v AAsRs SHRA HI2 cuRlA B

(i) granite (if) Marble (iii) Sand stone (iv) Slate

o(lA 25 WUl cleimlot MWL o 281 wual Hizell alsae(l, W

R

(i) shoring (i) underpinning  (iii) jacking (iv) piling

3l vje Aoll alcll Sl B

(i) Wood (i) Steel (iii) Concrete (iv) All of these

o{lAotl Hiell 520 v ®

(i) quartz (if) mica (i) gypsum (iv) none of the above
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(i) raft foundation (ii) grillage foundation

(iii) well foundation (iv) isolated foundation

[Aaucn slosle Hy B ¥ WA SH all wtitustH 12 3l RN Ao B
(i) ordinate Portland cement (ii) low heat cement

(iii) Rapid hardening cement (iv) Sulphate resisting cement
RAe2 1L AU oA A curld JesR

(i) Gypsum (i1) Calcium chloride
(iii) Calcium Sulphate (iv) None of these

slosle ol clsid, daLs uel
@ ue (i)a (i) Adly @ (iv) 42 3 all

Attempt any four questions from Q-2 to Q-8
Attempt all questions

[Q-5122 5losle U s1R2-8et-Rd Slosle ofl vl 5.

WAL Aa 2LelR Sotoll WAL WAL QAU AR AW,
Attempt all questions

U AY Aot B EL% oll UAI WAL I Al AHALA

Uslot el oll Sliabell ®3Raud (A el

Attempt all questions
QAstze AHA 3l A AdUSAHL A B? dolssialr Ulsaul cdul

Hlosla ¥ ol douscloll AUa Bl s2clloll Acdlal (Aot R AHA

Attempt all questions
Rl ofl WA ol SIAEL Bl of Lot R

cyludl AVl 4. WAW 2. 23t 3. sias ¥. e W dellau . YyedloL .

LS esl
Attempt all questions
A5 3l saulols ueuld ofl It QA 2us(Ad Al A

LS HL Sl 3Lt ofll 3321 A iUl

Attempt all questions

WSSO 2R HL Ve stH HI2 Slet ol (@ 3L weual
€52 oll witusiHoll stH Hizoll uew ol 2us(d €L,

Attempt all questions
WSS ol WLESIH HIZ (Arsl2 Sloll UL |UEAIL YSIRL ULl
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